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	Solve each problem.
	
	Solve each problem.

	1. A salesperson receives 5.4% commission on her sales. On one sale, she received $6.48 in commission. What was the amount of the sale?
	
	1. Diego paid $1.25 in sales tax for an item he purchased. The sales tax rate was 5%. What was the price of the item before tax?

	2. The Peterson family ate dinner at a local restaurant after the basketball game. The total cost of the meal was $35. The family also left a 15% tip for their server based on the total cost of the meal. What was the total amount of money that the Peterson family paid for the meal with the tip?
	
	2. Charles purchased 2 pairs of jeans that were on sale for 75% of the regular price. The regular price of the jeans was $22 for each pair. What was the total cost of the 2 pairs of jeans?

	3. Sarah answered 27 out of the 30 questions on a math test correctly. What percent did Sarah score on the math test?
	
	3. A bicycle cost $250 last year. The same bike costs $200 this year. What percent of last year’s cost is this year’s cost?



	Solve each problem.
	

	1. A family of four went out to eat at a restaurant. Their total bill was $46.69. The family also left a 15% tip for the server. How much did the family spend at the restaurant?
	2. If 69% of the 247 students in the seventh grade ride the bus to school, about how many do not take the bus to school?

	3. Kevin paid $205.80 for his senior class photographs. This included 5% sales tax. What was the cost of the pictures before taxes?
	4. The original selling price of a new sports video was $65.00. Due to demand the price was increased to $87.75. What was the percent of increase over the original price?

	5. Jordan purchased a pair of shoes at the local shoe store. The shoes were originally $89.99, but were on sale for 10% off. The store also applied a 6% sales tax amount to the adjusted cost. How much did Jordan pay for the shoes?
	6. Phil received a commission of 5% on the sale of the house. If the amount of his commission was $4780, what was the selling price of the house?

	7. A camera regularly priced at $295 was placed on sale at $236. What percent of the regular price was the sale price?
	8. A television is on sale for $300. If the sale price is 30% less than the regular price, what was the regular price?


Solve the following.

	9. A company buys a sweater for $14 and marks it up 90%. It later discounts the sweater 25%.
A. Find the original selling price of the sweater.


	B. How much was the discount?


	C. Find the sale price after the discount.


	D. The company’s profit on the sweater can be found by subtracting the final selling price minus the cost. What was the company’s profit on the sweater?


	E. The profit was what percent of the cost?



Solve.

	10. An amount is increased by 15%. The result is decreased by 15%. Is the final result equal to the original amount? Explain your reasoning with an example.

	11. Identical sweaters are on sale in two different stores. In the first store, the sale price is 30% off the regular price of $25. In the second store, the sale price is 40% off the regular price of $30.  Which sweater is the better buy? Explain.


Answer Key mat_8_1_4_a1c_1

Guided Practice

1. $120

2. $40.25

3. 90%

Review Practice

1. $25

2. $33

3. 80%

Independent Practice

1. $53.69

2. 76 students (as there cannot be a fraction of a person)

3. $196

4. 35%

5. $85.86
6. $95,600

7. 80%

8. $428.57
a) $26.60

b) $6.65

c) $19.95

d) $5.95

e) 42.5%

9. No, once the original amount is increased by 15%, the new amount is greater than the old. This makes the original 15% increase a smaller actual amount than the new amount’s 15% decrease, e.g., 15% amount one < 15% amount two.

10. It is better to buy the sweater from the first store. $25 x 0.7 = $17.50 < $30 x 0.6 = 18.
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